Quiz #5 (CSE 400.001)
November 26, 2012 (Monday)

Name: ID No:

1. (15 points) Solve the following problem from z =1 to = 5 with h = 2.0 using the Euler method:
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2. (15 points) Consider a laterally insulated metal bar of length 1 and satisfying the heat equation u; = ;.
Suppose that the ends of the bar kept at temperature u(0,¢) = u(1,t) = 0 and the initial temperature in
the bar is f(x) = 422, if 0 < x < 0.5, and f(z) = 4(x —1)?,if 0.5 < 2 < 1. Applying the Crank-Nicolson
method with A = 0.2 and k£ = 0.08, find the temperature u(z,t) in the bar for 0 < t < 0.16.
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